TIWVIT I
1.5X5%X15

3 56179
2m, 734 b IVIN—

15—

182 TIVIT I
1.5%X5%30 )
2m, 7L< A hIviN—

His

# 30

56076 7IVIT7 Tl

1.6X9%20
3m/ T bILIN—

o

e
56135,

TIVIT T
1.2X9%35 )
3m “T7ILIA MILIN—

TH
o
1 .
| . |
TIVIT T
m 206132 1.5x10%15
S
7 v -
1y .
1 -T

FIVIT LTI

15—
2Bl 3X10%20
2m/ TIRA bILIN—
IE
1 i
—
56175| 77T

3%10%30
al
Ll

2m/ 7= A hILIN—
56064 7/WIF7 TV
Sxi0xd0 .

3m/TILTA hILIN—

30 |

PV P I FED |

56180| 7/VIF7 v

FIVIT T
1.5X5%20 26iloH

1.5X5X25

2m,/ 7= bILIN— 2m, I bILIN—
[Te) — [Te) |_| —
4 -1 4 11T
20— : 25 4

56137| 7/WI7 > T
1.5X5x%x40
2m,/ TV A R ILIN—
KT|'| |
| 40 |

-

56133| 7IVIF7 T

1.2X9X%25
3m/ T hILIN—

TIVIT T
56134 1.2X9X§0
OTH
1

3m/ T hIVIN—
: 25— :

56136

N
—
=

30 #

TIVITTIL

1.5X9%40 .

3m,/ 7IL=A b ILIN—
o Iﬂ o
j'_' L 1 1

| 1 :
142| 7IVIT7 v 260 ZIVIT T 261| 737 T
56 1.2X10%20 ) 56260 1.5X10%x20 2X10x20
3m/ T A RIVIN— 2Tb(—$Em,)t/§mm) 2m, I RV —
T P4 -

T T T
S ~ S 0 2 ~
1 — 1 T 1 T

FIVIT LTI FIVIT LTI FIVIT LTI

56262

56072] 1 io%2s S6144] I 5310%30 1.5X10X30
3m,/TILTA hIIN— 3m/ T hN— 2m(~3m, +5m)
7 SIIN—
TH TH .
L 1 [— L I:‘_C‘ L 1
# 25 # # 30 # # 30 #
Tocioxss 56263 I 0% 40
3m/ FIRA k- 2m (—3m, +5mn)
7 P2 -
=
= o~ ST 2
T =T 1 T
L 25 | | 40 |
172| ZIVIT T
250450

2m (=3 mm, +5 mm)
TIVIA RVIVIN=

al dl
T e 1 T
# 2 : : 50 ¥

TIVIEGRIE, 1 RKDSH T L

(BfH23) HAIBECT.



